Answers to Geometry CP Quarter 3 Review

Chapter 6

Standardized Test

1.D 2.B ‘3.A 4.€C A 6.D 7.D
8.B 9.C 10.C 11.B 12.B 13.D
14. A 15.C 16.195
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After 6 folds: length is 1: 1, width is 1: 64, area is 1 : 64

18.a.A,B,C.E

b. The 16 X 20 is an enlargement dilation of the 8 X 10 by a scale factor of 2: 1. The 10 X 14 is an enlarge-
ment dilation of the 5 X 7 by a scale factor of 2: 1. The 4 X 6 is an enlargement dilation of the 2 X 3 by a
scale factor of 2: 1. The 12 X 16 is an enlargement dilation of the 1.5 X 2 by a scale factor of 8: 1 e. C and
E could printona 10 X 14. G, I, and J could print on an 8 X 12.

Chapter 6

SAT/ACT Chapter Test
.B 2.C 3. 4.A 5E 6D 7.D 8.C
9.B 10.B 11.A 12.40 13.511

Chapter 7 Chapter 8
Standardized Test
.B 2.A. 32D 4D '5.C 8.A 7.C
8.B 9.D 10.B 11.A 12.D 13. A
14.B 15.B 16.43.5 17.25 ft; 28.69°

18. a. 11,250 f2 b. 13,500 f? e. 15,668 ft
d. 7548.86 fi?

Standardized Test
1.B 2.A 3D 4.B §5.C 6.C T.A
8D 8B 10.C 11.A 12.B 13.A
14.D 15.D 16. 235
17.a. FM=T70ft, J=10ft b. 7328 f
18. a. 184 fi* b. 240 ft* c. 84 f1*

Chapter 7 Chapter 8

SAT/ACT Chapter Test SAT/ACT Chapter Test
1.€ 2.B 3.E 4.A 5.A 6.A 7.B 8.D - .
1B 2.D 3. K @A 5.A B.C€ TiB 8/C

9.C 10.E 11.A 12.C 13.D 14.B .D 0.D B 12.C " —
15.753 16.23.6 17.2400 -D 10.D 11.B 12.C 13.A 14
15.24 16. 16



